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      Max.Marks:-30 

      Min.Marks:-10 

Note:-attempt all questions.  

Que.1     A and B enter into a partnership. A contributes Rs. 8000 and B contributes. Rs.  

               10000. At the end of six months they introduce C who contributes Rs. 6000. After  

                3years they find that the firm has made a profit of Rs. 9660. Find the share of each. 

                A rFkk Blk>k O;kikj djrs gSaA A 8000: rFkk  B 10000: yxkrk gSA 6 ekg i”pkr C  

                6000: yxkrk gSA 3 o’kZ QeZ dks 9660 : dk ykHk gksrk gSA izR;sd dk fgLlk Kkr  

                dhft,A 

Que.2     In an examination 70% examinees passed in business mathematics and 65% in  

               financial Accounting while 15% failed in both the subjects. If 2700 examines passed  

               in both the subjects, find the total number of examinees. 

               fdlh ijh{kk esa 70 % fo|kFkhZ O;kolkf;d xkf.kr esa rFkk 65% foRrh; ys[kkadu esa  

          mRrh.kZ gq,] tcfd 15% nksuksa fo’k;ksa esa vuqRrh.kZ gaSA ;fn 2700 ijh{kkFkhZ nksuksa fo’k;ksa esa  

          mRrh.kZ gq, rks ijh{kkfFkZ;ksa dh la[;k Kkr dhft,A       

  Que.3    If A  

              Find   + 2A-TI 

               Kkr dhft,A 

 Que.4    Solve the following equations using matrix: 

               vkO;wg dk iz;ksx djrs gq, fuEu lehdj.k dks gy dhft, :- 

               2x-y +2z = 9 

               X+y+z = 6 

               -3y+z = -1 

Que.5     Find the value of following:- 

               fUkEufyf[kr ds eku Kkr dhft, :- 

(1)          
   -        

  +        
   

(2)       21.6 

Que.6     Write the statement of Euler’s theorem and verify it. 

               ;wyj izes; dk dFku fyf[k, ,oa mls lR;kkfir dhft,A 

Que.7    What sum will amount to Rs. 28,119 in 3 years at compound rate of interest , if the  

              rate is 3% per annum for the first year, 4% per annum for the second year and 5%  

               per annum for the third year? 

               ;fn nj igys o’kZ ds fy;s 3%okf’kZd] nwljs o’kZ ds fy;s 4% okf’kZd vkSj rhljs ds fy;s  

          5%okf’kZd gS rks dkSu lk /ku pdzòf} O;kt ij 3 o’kksZa esa 28,119 : gksxk? 



 

Que.8    Define discount and explain their types with illustrations. 

              cV~Vs dks ifjHkkf’kr dhft, rFkk lksnkgj.k mlds izdkj crkb,A 

Que.9    Solve the following Linear programming problem by simplex method. 

              fuEufyf[kr js[kh; izdzeu leL;k dks flEiysDl fof/k ls gy dhft,» 

              Maximize ¼vf/kdre½               z =     +      

               Such that  ¼tc dh ½                    +       400 

                                                                +       450 

                                                               ,   0 

               

Que.10   Write short notes on following :- 

                fUkEu ij fVIi.kh fyf[k, :- 

(1) Slack and surplus variable 

Lysd ,oa ljIyl pj 

(2) Objective function 

mn~ns”; Qyu 

(3) Decision variable 

fu.kZ; pj 

(4) Unbounded solution  

                      vifjc} gy 

 

 


